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SECTION1
1. By Euler"s method, find 3(0.6) by taking 4 = 0.2 of the
following differential equation 6

%zx—2y, y0)=1.

v
Or
Evaluate »(0.1) correct to six places of decimals by Taylor’s

d:
series method if y(x) satisfies Ey =xy+1, y0)=1.

PTO.
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SECTION 1

Define dual of a statement. Find .duals of the "

following :

0 x.¥y:.

(i (x+32). (6 + ?c). (qfc' +1).

What values of the Booléan variables x and y satisfy 7

»=x+y? s

Find the values,.if any, of the Boolean variable x that

satisfy these equations :'

N{)] x. X=1;
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Prove the absorption law x(x + ») = x.

Draw a Karnaugh map for'a function in four variables

and put .I' in a square that represents

+

o xyz. .

. Which minterms are represented by squares adjacent to

this square ? _ - 5

A committee of threc individuals decides issues for an_
organization. Each individual votes ;ither yes ‘or no for
proposal. A proposal is passed if it‘ receives at least
Wwo yes vlotés. [;ésign a ‘circuii; that ‘det,ermines' Qhethcr ‘

& proposal passes.

PTO.
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SECTION i1~

4. Attempt any fwo parts :. ' 343

6] How many paths of length four are there from a to -

d in a simple graph G as shown in Figure ?

(i)  Define union of two graphs. Find the union _;:)f the

following graphs Cf and G, :

o

o

G1

’
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tiii) Define bipartile graph. Give mwo éxamples of bipartite

1

graphs.
Attempt any (wo 'parts : 343

() Define a tree. Prove that an undirected graph is a tree

tf and only if there is a unique simple path between

any two of its vertices.

PTO.
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(i In which order does an inorder transversal visit the

}
vertices of the following ordered rooted tree T :

(i) Draw graphs with the following adjacency matrices :

o 1 1 0]
10 o0 1

@ {1 o o .1
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6 Attempt any one part : v : 4

) Using Kruskal's algorithm, {ind- the minimal spanning

tree for the following weighted graph :

(i) Prove that a simple graph is connécted if and orﬂy if

a

it has a spanning tree.

P.T.O.
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SECTION IV |

Write the pseudocdde for finding the sum of first 20

even numbers.
Obtain asymptotic lower bound for 6m% + 1. 6

or

. VWhat does the following algorithm in pseudocode

compute after its execution ? N is assumed to be

positive integer :
x=0
y=20

while (x < N) }

x=x+1 ’
y=y+x
}

print y - "

Obtain asymptotic lower bound for 3 + 9 +.27 + 81

8 1,500



